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instructions

All questions are compulsory

1 Following is not the branch of Geography
FTATAT & ATAT JITATET ST ATar

(A)Population Geography (B)Political Geography (C)Economic Geography
et > A : sy <
2 e is the father of possibilism
FHFATET TG =--mwmmmmmemmmmmemmmmennan T IR

(A)Fredrick Ratzel (B)Vidal-De-La-Blash (C)Ku. Allan Sample

St e fasTer-sr-m=arer F. T T HEI
3 Economic Geography does not consist of ------------- branch,
ST VI I ATATATE =-mmemmmeee AT JHETSIT A ATar
(A)Marketing Geography (B)Industrial Geography (C)Historical Geography
fereorer sgatrer AT e T e
4 Eskimuslivee in leather teent in summer it is called
TTERHT FATd I=aTeATT FTS=AT GG TR AT AT =--mmmmmmme TEUTAT
(A)lgloo (B)Tupic (C)Crawl
T fw T
5 —rmoeee- is the main business of Bushmen tribe.
FIHT AT AT & AT ----mmmmmmmmmmmoo e
(A)Animal Husbandry (B)Farming (C)Hunting
TILATAT Irar e
6 Out of the total tribal population in Maharashtra Gond People live in ----------------
HENTSZTATeT UHUT ST 7€ AR TEH §o % TS —mmmmemmem freaTer TR,
(A)Nandurbar (B)Chandrapur (C)Thane
BELCIEy T T
7 e is the shape of Massai Crawl huts.
HATE=AT il SATTSAT=AT FHRET HFT. -=mmmmmmmmmmem SEar
(A)Circular (B)Square (C)Like bow
AT ST EEAICIES
8 Eskimos are off -----mmmmmmmmene race
TR A ~emmeemeeee I SR,
(A)Caucasoid (B)Mongoloid (C)Negroide
FEATES RS furss
S is the type of central asiankirghiz tribe
T ATTIATA BT ST TECHT =-mmmmmmmmmemeen TTEIT=AT 3718
(A)Rural Settlement (B)Urban Settlement (C)Permanent Settlement
TTETT aEET AT FEAT T FEAT
10 ----mmmmmm of the following is the circular pattern city.
BICATATH TGATAT AHITTT A TETL —-omemrmmmmmeae A
(A)Aurangabad (B)Delhi (C)Jabalpur
SAraTETE T TIATT
11 Hiroshima port is the example of pattern
LR L o B AT el L —— AFATTITT IITELI 2T
(A)Linear pattern (B)Mixed type pattern (C)Circular pattern
12 Cities comes under the urban functional distribution
AT T FATTET TTRTITT @TEATE TATATANC ==mmmmmeemem T
(A)Administrative cities (B)Industrial cities (C)Religious cities
STOTEHT AT AT T T
13 —e- of the following city can be referred as industrial city.
FTAT —-mmmmmmmmmeme T Ioord AT T Fg U &l T8l
(A)Ajintha (B)Tuljapur (C)Jamshedpur
srfieT JHITT THEIEIY
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(D)Geomorphology
YETITET

(D)William Morris Devis
faeaer qife s

(D)Agricultural Geography
ERIR Ul

(D)Gotul
ee

_

(D)None of these
RIEEIRCIE

(D)Nashik
Arfore

(D)Linear Pattern
TN

(D)Austroid

AAES

(D)Temporary settlement

TR AT

(D)Madras
LIS

(D)Open hand pattern

. s

(D)AII of the above
T 7

(D)Mahabaleshwar

RS
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14 Medium to tall physiology are the characteristics of -------- race

TS F I I —mmmmmmmemm g afarseT e
(A)Negroide (B)Mongoloid (C)Caucasoid (D)None of these

fares qTES FFATES T ATET
15 Grey to black, rough, woolen, curly hair the featured of ----- race.

TS THS, TS, AT, G5 ST Fl —--=mmmmmmv FuITET Afrser R,

(A)Caucasoid (B)Negroide (C)Mongoloid (D)None of these

FAATES s AT I AT
16 -------- of the following is the sub type of Natural Environment.

\TeATAYa A TATEu=T SR 8.

(A)Economic Environment (B)Social Environment (C)Lithosphere (D)Cultural Environment
17 The attire made up raindeer’s skin by the Eskimos is called -------

TTERAT TASET=aT FASIET T AT FTATE —-mmmmmmmmmenms FEUTAT
(A)Kanmic (B)Nimiyak (C)Harpun (D)Tupic

e Rl AT oqfiw
18 Who gave the definition “Human Geography is the study of man and his adjustment to natural environment”

“HTT ATIOr == S i1 AT TS SRTH ST ST R0y, 9T ST JIET Y6 & STAT ==mmmemmmemmv RIETR: I
(A)Vidal-De-La-Blash (B)D.H. Devis (C)Fredrick Ratzal (D)Ku. Alan Sample
19 - has put the theory off evolution

FORTATET FEIT —-mmmemmmmeem T ATSET
(A)Montegen (B)Darvin (C)Hobel (D)Kobar

HqETT e G FaT
20 Jabalpur in India comes under ------------ pattern

AT STEAYT IET ATATATE —menmmmee AR ET=AT TH 3
(A)Circular pattern (B)Checker board pattern (C)Star pattern (D)Radial pattern

: N ; _ = T S — S
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